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Q: Hari walks 8 km towards east from his starting point.
Then turns to the right and walks 5 km. After that he turns -
to his left he walks 4 km, finally he turns to his left and
travel 5 km. Then how far is Hari from his starting point?

Q: TR 370 IRFH g @ qd &r 3R 8 fehelt worar &1 Y arit 3R
gﬂ%}ﬁTSﬁﬂ:ﬁW%I 38P d16 I% U arRil RN JSdT & IR 4
hdl

TAdT &, 3d H Ig U a5 N HSdT & IR 5 fhat Hhr amm
gl dr e e 3RS fdq @ fhaer gy &2

A. 14 km
B. 8 km

C.12 km
D. 16 km



Q: Rahul walk 5 km towards north. Then he turn his left A
and walk V225km . Finally he again turn his left and walk ¢

V25 km. find in which direction he is facing now? Find
distance between his staring point to ending point ?

Q: Tgel 3R hI 3R 5 fohall Teadr &1 T gg a1 AT & 3R V 225km
Toldl &1 3d # a8 T @ U a0 g1 & 3R V25 fhall Telar g1 A1
HIfST fop 319 39T @ foha foem & ©2 38d TP drel foig d 3ifda
fig & dra & gt w1a Hfew?

1- South, 15
2- North, 15
3- East, 15

4- West, 15



Shalini moves 10 km. towards north west direction and then she turn
her west and travel 15 km. finally she turn her right and walk 20 km.

find in which direction she is now from her starting point?

waa?ﬁmﬁﬂfraﬂ?ﬁ%lmmﬁmzﬁmﬁiﬁwa?maﬁ
3T FST & 3R 15 fohall &l AHT el &1 3 A ag g™ ¢ 3R 20
Rpall Terchl &1 <1 HITST 6 319 a8 30 IR [Kg T Toa e &

2
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1- north east
2- north west
3- south east
4- south west



Q: If after going 5 km towards east direction
Rohit turn 433 times his left then find in which

direction he is facing now?

. I g feam fir 3R 5 frel S & arg AR 3Ux I 3R 433 IR
ASAT &, I A1d HITAT foh 3T 3HAT AW fopa fgem & &2

1- North
2- South
3- East

4- West



Q: Point A is 10 m to the south of point B. Point C
is 8 m to the north of point D, which is 4 m to the

west of point B. Point E is 4 m to the west of
point A. How far and in which direction is point E

with respect to point D?
fig A, fdg B & cfaior & 10 AieX &1 g 1%@ D & 3R A 8 M &, N
fig B & UfIA # 4 aﬂ‘a%*lﬁ% & A H 4 A T gD
o Headl H Taiq E fehdeil g 3N fera rr:ﬁr%?

1) 8 m north
2) 10 m south
3) 8m south
4) 10m south



the clockwise direction and then another 180 degree in
the same direction and then 270 degree in the
anticlockwise direction . Finally he turn 225 clockwise

direction . Find which direction he is facing now ?
UH: Uch <Ifh I AW SIaror &M & 3R g1 I¢ giaromad fGem # 135 23l 3R
34T fgem # 180 3ol 3R T ardATad f&em & 270 3y Hsar &1 379 H g8 225
cfaromed feem & a1 &1 A1d HfSw 6 3 39 HA@ feem & §2

a: A man facing toward south. He turns 135 degree in

1- east

2- west
3- north
4- south



